______________________________________

Exercise: Making inferences
This exercise is an example of how people's values, needs, experience, and perceptual tendencies operate.  Despite the fact that this is an uncomplicated, four-sentence story and the questions are not complex, even bright and well-educated people make mistakes in answering questions.

Instructions: Read the story below slowly at least 3 times.  When you have completed this, respond write down your answers to each question below as you read the questions.  Do not refer back to the story. Score your answers using the answer key provided at the bottom of this panel. 

The story: 

A businessman had just turned off the lights in the store when a man appeared and demanded money.  The owner opened the cash register.  The contents of the cash register were scooped up, and the man ran away.  A member of the police force was notified promptly.

Now answer the following six questions by indicating T (true), F (false), or ? (can't tell or don't know):

_____ 1.     A man appeared after the owner had turned off his store lights.

_____ 2.
    The robber was a man.

_____ 3.     The man did not demand money.

_____ 4.     The owner opened the cash register.

_____ 5.     After the man who demanded the money scooped up the contents of the cash      

                   register, he ran away.

_____ 6.     While the cash register contained money, the story does not state how much.

Consider reasons for any answers that you marked incorrectly.  The (?) or "can't tell" answer are cases where people's perceptions, judgements, and inferences come into play in mentally interpreting and organizing the story.  Question 4 is particularly interesting because it is taken verbatim from the story itself, yet people get it wrong.  Do you believe the errors are cause by problems with attentiveness? Selective perception?  

What similar behaviors occur in the workplace? (e.g., how might quick judgements and assumptions effect a superior-subordinate relationship such as during a performance appraisal or discussion over a work-related incident).

The correct answers are as follows: 1. ? 2. ? 3. F 4. T 5. ? 6. ?______________________________________
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